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(0.5+3.05)/2%5.1+1.12%0.56/2 9.4 m2
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(17.1+3.05+3.05)%2.3 534 m2
| EFERE
(17.1+3.05+3.05)%2.3 534 m2
==
(17.1+3.05+3.05)%2.3 534 m2




n—-FL-ILIT

IiE [ SEA | %8 [ B4

n-FL-VRE - BFA

17.1+3.05+3.05+4.0 27.2 m
T U AM =NV ERET
] | SER | &%&8 [ Hf

TVE A —F LV B

5.0%23.2/10 11.6 =
FHELFIL

0.2%23.2/10 05 m3
IVY)-+T

0.5%23.2/10 12| m3
B

2.0%23.2/10 46| m2
EEEE

5.0%23.2/10 116 m2




BEYMmYELT

I | &L | %= 2]
BEDRYELI KN
1.2%23.2/10 28 m3
BEDRYELIER)
1.4%19.2/10 27 m3
BEMRYELIGET 1v))
(3.35+1.36)/2+3.98%0.35 33| m3
BEMRYERLI(EE
2.8+2.7+3.3 88| m3




i S BE K

TiE | g TET

RUTRE

| %8 | B4

B}
E'{




TEAER

TiE | B/ | SHER | $iE [ B
B3

1 =




TIiE | i | HEX | %= | Hf#
vy -+T
0 ck=18N/mm2 0.6%22.6/10 1.4 m3
A
2.4%22.6/10 54 m
B i #f
0.1%22.6/10 0.2 m




HmE1vh)—}

TIiE i | HEX n= B
vy -+T
0 ck=18N/mm2 1.4%16.5/10 2.3 m3
A
45%16.5/10 74 m
ERER
t=200 1.5%16.5/10 25 m
EEXZ
0.1%16.5/10 0.2 m




1@ fT&H =Y

AU))-MEEE T (/O T)

I | pSiAie) | HER | %8 | Bfr
avy-+tT

0 ck=18N/mm2 1.6 m3

R

12.6 m




